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GENERAL STUDIES
__-_'-_-——_—_‘—-—__
C’I‘_ir_ne Allowed : 1 Hour]

\ ( Objective )

[Maximum Marks : 100]
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IMPORTANT INSTRUCTIONS
1. This Question Booklet contains SO questions in all.
2. All questions carry equal marks.

3. Attempt all questions.

4. Immediately after commencemen

Question Booklet and ensure that
right-hand corner of the Booklet.

t of the examination,
or question is missing or un
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An Answer Sheet will be supplied to you scparately by the Invigilator to mark the answers.

You must write your Name, Roll No. and other particulars on the first page of the

Answer Sheet provided, failing which your Answer Sheet will not be evaluated.

7. You will encode your Roll Number and the Question Booklet Series A, B, Cor Das it is

printed on the top right-hand corner of this Question Booklet with Black/Blue ballpoint pen
in the space provided on Page-2 of your Answer Sheet. If you do not encode or fall to
encode the correct series of your Question Booklet, your Answer Sheet will not be

evalvated correctly.

8. Questions and their responses are printed in English only in this Booklet. Each question
Smipl'iSeS- four responsers)—(A), (B), (C) and (D). You are to select ONLY ONE correct response
and'l'gnark in your Answer Sheet. In case you feel that there are more than one g{ogc&cé
response, mark the response which you consider the best. In any case, choose tONL E
'TSMSe,fdr each question. Your total marks will depend on the number of correct response
marked by you in the Answer Sheet.
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1. The highest earth-filled dam in 4. The person who cmat?liﬁhcd the
India is British rule in India 18

(A) Ranjit Sagar (A) Robert Clive

(B) Bhakra (B) Duplex
C .
e (C) Mir Jafar
(D) Hirakud :
(D) Hastings
(E} None of the above/More
= than one of the above .} (E) None of the above/More
ff@‘f"a,::: pan oo WGy no et than one of the above
2. The Supreme Commander of the
military in India is 5. The Article which deals with
5 ‘Education for All’ is
£A) the President
(B) the Prime Minister BF Artetc @t
(C) the Home Minister (B) Article 43
(D) the Defence Minister (C) Article 45
(E) None of the above/More (D) Article 44

than one of the above

o4 A -(E) None of the above /More

(3.}, Lol Adeiat s than one of the above

(A) a court to settle disputes "
through compromise or 6. ‘gho 1S !CHOWn as the Father of
settlements conomics?

(B) a court designed to shorten - (A) Karl Marx
the time taken for settling
disputes (B) John Marshall

(C) a court run by the people (C) Malthus

(D) All of the above (D) Adam Smith | .

(E) None of the above/More

E) N
~ than one of the above IE): Hene  ofl 1l abOVC/ More

than one of the above

 O7/AAS/CME-2022-3/17-c
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The basic features of Economics :
o 10. Which of the following are

chemical changes?
(A) production, labour and .

income 1. Cooking of food

(B) production, labour and 2

- Digestion of food
consumption
: 3. Freezing of water
/(C) production, distribution
and income 4. Water is heated up
(D) production, distribution

Select the correct answer using
and consumption the codes given below.
(E) None of the above/More (A) 1 and 2
than one of the above £

B)1, 2and 3
8. The nurturing field of social

progress is (C) 3 and 4

(A) house (D) All of the above

(B) family (E) None of the above/More
2 than one of the above

AC) society

(D) school

11. A soap molecule has a
(E) None of the above/More

than one of the above (A) hydrophobic head and
hydrophobic tail
9. Hydrogen bomb is based on the

(B) hydrophobic head and
principle of hydrophilic tail
'(A) nuclear fission 0 \/Kf /hydrophilic head and
(B) nuclear fusion\_ " hydrophilic tail

(C) natural radioactivity (D) hydrophilic  head and

hydrophobic tail
(D) artificial radioactivity YRR
sk ) None of the above/More (E) None of the above /More
' ~ than one of the above than one of the above
MG s - [PT.0.
07/AAS/CME~2022-3/17-C 3
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12. Which one of the following is not

a greenhouse gas?
(A) Methane

(B) Hydrogen

~(C) Nitrous oxide

(D) Ozone

(E) None of the above/More
than one of the above

Which® among the following
statements is/are true?

Exposure of silver chloride to
sunlight for a long duration
turns grey due to

1. the formation of silver by

decomposition of silver
chloride

2. sublimation of silver
chloride

3. decomposition of chlorine
gas from silver chloride

4.» oxidation of silver chloride

Select the correct answer using
the codes given below.

(A) Only 1
(B) 1and 3
YC) 2 and 3
(D) Only 4

 (E) None of the above/More

- than one of the above

3/ CME-2022-3/17-C

14. What happens

A(A) Water <

GET IT ON
Google Play

when a solution

of an acid 18 test tube?

in a
solution of a base 11

1. Temperature of the solution
decreascs

2. Temperature of the solution
increases

3. Temperature of the solution
remains the same

4. Salt formation takes place

Select the correct answer using
the codes given below.

(A) 1 and 4
(B) 1 and 3
,AC) Only 2

(D) 2 and 4

(E) None of the above /More
than one of the above

15. In terms of acidic Strength,

.«

which one of the i
the correct increasing order?

Acetic

acid <
Hydrochloric acig

MoSeO W <
Hydrochloric o ater
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natural source of

e of the above/More

l’l
E) No f the above

than on€ O
W'nat i the pH range of our
body? |
[A) 7.0-7-8
B 7:2-80
o 7084
p) 72-84
[E) None of the above/More

_ than one of the above

18. The easily noticed smell of the
LPG gas is because of which
among the following?

!(A!,lButan ;

B Breisans,
(©) Methane

r(B) 'QM ol

20. The

21.

22.

GET IT ON
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India Meteorological
Department (IMD) inaugurated
India’s highest Meteorological
Centre (MC) in

'(A) Ladakh

(B) Arunachal Pradesh

(C) Sikkim

(D) Jammu and Kashmir

(E) None of the above/More

than one of the above

Which one is the first country
to approve Covid-19 vaccine of
Oxford-AstraZeneca?

(A) USA
.(B) England
(C) Japan
(D) India

(E) None of the above/More
than one of the above

India’s first National Sports
University has been launched in

,(A) Sikkim
(B) Manipur
(C) Kerala
(D) Punjab

(E) None of the above/More
than one of the above

[P.T.O.
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23. Which country’s President was

24.

25.

the Chief guest at India’s
Republic Day Parade on
January 26, 2021 after UK
Prime Minister Boris Johnson
cancelled his visit to India due
to Covid-19?

(A) Bolivia
(B) Uruguay
(C) Guyana
(D) Suriname
M (E) None of the above/More

than one of the above

India’s first Air Taxi Service has
been launched in

(A) Mumbai

(B) Manali

+(C) Chandigarh

(D) Lucknow

(E) None of the above/More

than one of the above

Which one country becomes the
first country to receive the
Indian Covid-19 vaccine?

£A)
B)
©
(D)
(E)

Maldives
Bhutan
Nepal

Sri Lanka

None of the above/More
than one of the above

07/AAS/CME-2022-3/17-C

26.

27.

28.
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Who became the first woman
fighter pilot to par ticipate in the

Republic Day fly-past?
(A) Bhawana Kanth

(B) Shaliza Dhami

iC)
(D)
(E)

Avani Chaturvedi
Mohana Singh Jitarwal

None of the above/More
than one of the above

How many rockets has been
launched by SpaceX Agency on
a single rocket?

(A) 104

(B) 125
(C) 136
/(D) 143

(E) None of the above/More
than one of the above

IISc Bengaluru has signed a
MoU with which organisation to

develop biomass gasification-
based hydrogen generation
technology?
(A) ONGC
(B) NTPC
(C) Indian Oil Corporation Ltd.
‘(D) Gas Authority of India Ltd.
(E) None of the above/More

than one of the above

3
W
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of the above/More
ne of the above

t travels from one
another medium

~ wavelength  and
acy do not change

y, wavelength and
cy remain same

f;‘eQuency change
avelength remains
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vanaiaate’s Roll Numh~-

3o
2 t1
oxI: cal fiber technology is based

(A)
(B)
(©)
-(D)
(E)

dispersion

interference

refraction

total internal reflection

None of the above/More
than one of the above

33. Choose the correct option from

the table :
Music Noise
(A) |Any unwanted |Any sound

sound that does
not please our

that pleases
our ears is

ears is called termed as
music noise
(B) |1t is produced by |It is
heavy-duty produced by
trucks, railway |musical
engines’ horns, |instruments
aircraft, car, such as sitar,
faulty guitar, violin,
loudspeaker, etc. keyboard, etc.
(C) | Music has Noise has
frequency and irregular
wavelength that waveform,
are harmonious wavelength
and low
frequencies
s ic has a very Noise has
(D) Z’i‘:;ing effect  |also soothing
E{ None of the above/More than

f the above

e e - = -

“FRP.TQ.
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34. Cooking takes longest time
,(A) in Shimla
(B) at the sea level
(C) in Delhi
(D) in Bengaluru
(E) None of the above/More
than one of the above
35. ‘Project Loon’is associated with

(A) waste management
technology

(B) wireless communication

technology
(C) solar power technology

/(D) water conservation
technology

(E) None of the above/More
than one of the above

36. The efficiency of a solar cell may
be in the range

(A) 2% to 5%
(B) 10% to 15%
+(C) 30% to 40%
(D) 70% to 80%

(E) None of the above/More
than one of the above

37. Which of the following is a power
absorbing heat engine?

(A) Steam engine
~ (B) Petrol engine
«(C) Air compressor

(D) Diesel engine

' () None of the above/More
~ than one of the above

CME-2022-3/17-C
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38. Fingerprints are observed by the |
use of
(A) telescop€
(B) microscop€
(C) Galilean telescope
(D) concave lens
(E) None of the above/More
than one of the above
39, Digital data refers to the
information that is
(A) continuous
(B) discrete
(C) bits
(D) bytes
(E) None of the above /More
than one of the above _
" 4
40. Transformer works with
~(A) alternating current (AC)
(B) direct current (DC)
(&) both AC and DC
(D) any signal
(E) None.of - the above,More
than one of the above
41. Relevant waves in‘tCIecommu-
(A) X-rays
15V wves
(D) All of u’l&(ﬁ&bm 5 -Mﬂ
than one of +1.. ove /Mo
A o
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Mmagnetic disks like memory

stick, floppy disk and hard
disk drive

3. solid state disks like thumb
drive, pen and flash

4. electric disks like memory
stick, floppy disk and hard
disk drive

5. mechanical disks like DVD,
CD and Blu-ray disks

Select the correct answer using
the codes given below.

(3] 1,2 an0.0
(B) 1and4
(C) 2and4
D) 3 and 8

e abOVC/ Morc

, @ of
3ika (E);,rtl\::: one of the above
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will happen when the

memory chip s volatile?

1. Explodes due to high
temperatures

b

Used for data storage

3. Loss of content due to loss
of current

4. Used to write and read data

S. Damaged due to loss of
current

Select the correct answer using
the codes given below.

(a) only - §
(B) Only 1
“(C) 1and 5

(D) 2 and 4

(E;)v None of the above/More
- than one of the above

CME-2022-3/17-¢ 10
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46. Which of the following places th,
common data elements in orde
from smallest to largest?

1. Character, File, Recorq,
Field, Database

2. Character, Record, Field,
Database, File

3. Character, Field, Record,
File, Database

4. Bit, Byte, Character, File,

Record, Field, Database

Select the correct answer using
the codes given below.

{A) 1 and 4
(B) Only 2
(C) Only 4

(D) Only 3

(E) None of the above /More
than one of the above
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9. Wh
ich
State of the
= e i followmg
OCracys true aboyt

(C) Role of Popular  struggle

Comes to ap end with the
establishment of democracy.

. - D) Publi icipati

above/More (D) = ?Partlgpatlon becomes
Chove : : cliective with the help of
‘ ‘ o organised politics,

(E) None of the above/More
than one of the above

50. Nepal witnessed an ext.ra- ‘ l
ordinary popular movement in
(A) April 1990
(B) February 2005
.(C) April 2006

(E) None Pf of the above
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